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Note: Figuics lhe right indicates full marks of the question.

Que.1.(A). Define Management Accountmg Explain the functions of Management (10}

Accounting.
(B). Write short note : Limitations of Management Accounting. (08)
OR
Que.L. Describe the difference between Management Accounting, Cost Accountmg (18)

and Financial accountmg

Que.2.From the following information ofDurga Ltd., Prepare Cash Budget for lhree (an
months ending 31¥ March 2022 of Durga Ltd.

Month Total Total Wages Factory | Administrative
Sales | Purchase Rs. Exp. Rs. Exp. Rs,
, Rs. - Rs.
November-21 | 2,40,000 | 1,40,000 56,000 24,000 30,000
December-21 12,00,000 | 1,20,000 |~ 64,000 22,000 132,000
January-22 3,20,000 | 1,60,000 72,000 26,000 34,000
February-22 4,00,000 | 2,00,000 68,000 30,000 35,000
March-22 3,60,000 | [,80,000 76,000 32,000 38,000 |

Other information:

(1). Cash on hand on 1* January 2022 is Rs. 2,50,000.

(2). Assume 40% of total sale is cash sale and 10%of total purchases are cash puxchases

(3). 50% of the sale are realised in the next month of the sale made and the rest in the
next second month,

(4). The period of credit allowed by creditors is one month.

(5). Lag of the time in payment of wages ¥4 month, Factory exp.1/2 month,
Administrative exp. 1 month.

(6). In February 2022 company has purchased a Machine of Rs.1,60,000 by instalment
system. Rs. 40,000 is payable on signing the agreement and remaining is to be paid in
four quarterlyinstalment.

(7). In March 2022, Rs. 10,000 interest on Debenture is to be paid.
(8). A Rent of Rs.5,000 is to be paid every month.
(9). Income tax of Rs.25,000 is to be paid in March 2022.

OR




Que.2. RajkamalLtd. Has given the following particulars relating to the production and (17)
cost at two different Production level.

Production Production
: Capacity- 40% Capacity-60%
Units Produced ' 60,000 80,000
Rs. ~ Rs.

Materials Expenses 6,00,000 9.00,000
Labour [xpenses 9,00,000 13,50,000
Other Variable Expenses - " 1,80,000 2,70,000-
Electric Power Expense 3,000,000 3,60,000
Maintenance Charges 4,20,000 - 5,10,000
Indirtect Labour Expenses 1,50,000 1,80,000
Rent -1,80,000 1,80,000 -
Insurance 30,000 30,000 -
Depreciation _ 1,50,000 1,50,000

From the above particulars, prepare a Flexible Budget. Showing total
costs and cost per unit at 40%,60%,80% and 100% production capacity.

Que.3. (A). Define Cost Volume Profit Analysis and explain the assumption (08)
of Cost Volume Profit Analysis.

(B). Rahim Company has two plants which operating at 100% and 75% of (10) -
their capacities respectively. The company is considering a proposal to
merge the two plants to optimize- available capacity. The following details
are available in respect of the two plants, regarding their present performance..

Plant-1 Plant -2
Sales (Rs. In Lakhs) 200 75
Variable Cost (Rs. In Lakhs) | 140 54
Fixed Cost (Rs. In Lakhs) 30 ' 14

' Find out:
~ (1) The capacity at which the merged plant will break even.
(2) The profit of merged plant working at 80% capacity.

- OR |
Que.3. (A). What do you mean by Break Even Point ? Explain utility of Break (19)
Even Point.
(B).The following are the information of Ami ltd. : (08)

Variable Cost Rs.8,00,000

Fixed Cost Rs. 2,40,000

Total Cost Rs.10,40,000

Sales (50,000 Units) Rs.10,00,000

Loss Rs.40,000

You are required to determine the (1) BEP ( In Units and Rupees).
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(2). P.V. Ratio.
(3) If company earn Rs.80,000 profit than find Margine of Safely.
Que 4.The standard material cost for 200 k.g. of Chemical X is made up of as a7
follows:
Chemical A 60 kgs. @ Rs.4 per kg.
Chemical B 80 kgs. @ Rs.5 per kg.
Chemical C 160 kgs. @ Rs.6 per kg.
In a batch, 1000 kg. of Chemical D were produced from a mix of:
Chemtcal A 280 kgs., at a cost of Rs.1176.
Chemical B 440 kgs.,at a cost of Rs; 2112.
Chemical C 880kgs., at a cost of Rs. 5,720.
Calculate necessary Material Cost Variances.
OR

Que.4, F01 the plOdlthiOﬂ of one unit of a product, standard labour cost determined a7
as follows: ]
Skilled: 50 Hours @ Rs. 9 per hour. -
Semi-Skilled: 60 Hours @ Rs. 5.25 per hour.
Un skilled: 70 Hour @ Rs.6 per hour.
During the period for the actual production of 100 units actual labour cost was as
follows: :
Skilled: 5100 Hours @ Rs.10.50 per hour.
Semi-Skilled: 5900 Hours @ Rs. 7.50 per hour.
Un skilled: 6500 Hour @ Rs.5.25 per hour.
Calculate necessary Labour Cost variances.
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